* NOTE:

THIS DIMENSION IS
MEASURED FROM STRIKE
MOUNTING SURFACE ( SEE

STEP

2 AT BACK PAGE ),

NOT FROM TOP OF DOOR.

1.422*

N

PREPARATION

0.813 FROM
THE INTERIOR
FACE OF DOOR

0.240 (2 PLCS)

INSIDE ONLY

0.375 DIA

0.218 DIA (2 PLCS)

INSIDE ONLY ~\\\\\\\\\\

OUTSIDE CYLINDER

BACKSET /‘

\
i} N\ .
X %‘2@ _—

0.750 DIA HOLE

INTERIOR SIDE
OF HEADER

0.453 TO RIGHT SIDE
OF BACKSET CENTER

L INE REGAROLESS

OF HANOING

<>

0.750

DOOR HE IGHT
MINUS

NN

A\

//,/’
BAR HEIGHT
2
//Tf£75
1
(SEE NOTE 2)

STRIKE PLATE
ASSY

- #10 X 1

&
J

#10 X 1 174 PAN HEAD

SELF-TAPPING SCREW

INSTALLATION

174 PAN HEAD
SELF-TAPPING SCREW (2 REG'D)

—— #6-32 X 174 PAN HEAD
MACH. SCREW

)
VA

S wN —

o

MOUNTING CAP —

. SEE INSTALLATION INSTRUCTIONS.

BACKSET DOOR OPENING WIDTH
1.080" 30" 36" 22 2
om_ A 21.22* 33.22° 39.22" 45.22"

CUT-OFF INSTRUCTIONS FOR NON-STANDARD DOORS

. DRIVE OUT TWO ROLL PINS,

. REMOVE MOUNTING CAP,

. COLLAPSE BAR AND TAPE DOWN IN THE AREA OF CUT-OFF .

. DETERMINE EXTRUSION LENGTH ("B OIM). (NOTE: 3.6" MINIMUM

DIMENSION FROM RIVET CENTERLINE TO NEW CUT-OFF LENGTH AS SHOWN).

. MEASURE MOUNTING BAR (NOT PUSH BAR), AND MARK EXTRUSION LENGTH ON TAPE.
. SAW OFF EXCESS LENGTH,
. LAY MOUNTING CAP OVER MOUNTING BAR (FIG. "C"), AND

REMOVE TAPE AND OEBURR.

USE AS A GUIDE TO ORILL TWO 0.125 DIA HOLES.

. RE-INSTALL MOUNTING CAP INTO MOUNTING BAR

AND DRIVE TWO ROLL PINS INTO HOLES. MOUNTING BAR

PUSH BAR

OIM “B" =
DOOR OPENING
MINUS 3 23/32

0.125 DIA HOLES
(2 PLCS)

MASKING TAPE

:::> - CYL INDER (2 REG'D)
(HOR | ZONTAL
,/,/”/,//i REQUIRED )
///,;;/ L1 L HI0 X | 174
— PAN Hi
-~ // d CILINOER B F TABPING SEPARATING PUSH BAR AND MOUNTING BAR PROCEDURE
/’//T«/’//// //,L ,//’/// ( SUPPLIED (2 REQ'D)
o 1.400 (2 PLCS ) WITH 1. REMOVE BOTH END CAPS. THE RETAINER IS ATTACHED TO THE NOSE END CAP.
- CYLINDER) 2. SLIDE PUSH BAR TOWARD HINGE SIDE OF DOOR.
2.200 //’F > #10 X 1/2 ROUND HEAD SELF-TAPPING 3. CONTINUE TO SLIDE PUSH BAR PAST THE PIVOT PLATE THAT RIDES IN PUSH BAR TRACK.
1.340 N SCREW FOR UPPER HOLE
ST TN | 4. SLIDE PUSH BAR IN OPPOSITE DIRECTION
1.350 (4 PLCS) HOX 1 /e __d,,/”] #10 X 1 174 PAN HEAD SELF-TAPPING KEEPING PIVOT PLATE OUT OF TRACK UNTIL
PAN HEAD I SCREW FOR LOWER HOLE PUSH BAR |S FREE OF MOUNTING BAR. END CAP
’///,L SELF-TAPPING *ff:
//f%9°° (4 REGD) > 6-32 X 1/4 SCREW MOUNT ING
BACKSET NG & LOCK WASHER BAR
BACKSET CENTERL INE 0.910 CENTERL INE PUSH BAR
SINGLE DOOR:
HEIGHT OF STOP PIVOT
PLUS 1.080 INCHES INTERIOR FACE PIVOT PIVOT PLATE STOP
PAIR DOOR: 0.455 OF DOOR #10 X 1 174 PAN HEAD PLATE PLATE
1.080 INCHES 0.284 SELF-TAPPING SCREW #6-32 X 174 PAN HEAD TRACK
(REFER TO NOTES —
AT pACKPACEY | = Ty N _
METRIC EQUIVALENTS 1
INCHES W || INCHES INCHES END CAP £
MM INCHES MM INCHES MM MM RETATNER ASS' Y
0.50 DIA HOLE 125 3,17 .500 12,70 1 25,40 1.960 | 49.78 | 30 762,00
218 5,54 .670 17,02 1.080 | 27.43 2.200 55.88 | 33.22 | 843,79 INSTALLING PUSH BAR TO MOUNTING BAR
240 8.10 087 17.43 1187 0,15 3.600 91,44 % 914,40 1. WITH PUSH BAR IN HAND AND MOUNTING BAR ATTACHED TO DOOR, FIND PIVOT
NOTE 1: UNLESS OTHERWISE SPECIFIED, ORILL .156 DIA FOR 10 HOLES ( @) .250 6.35 .750 19.05 1.340 | 34,04 3.;18 94,43 | 39.22 | 996.19 PLATE STAKED INTO PUSH BAR. ( THIS PLATE IS ON THE LATCH END OF ASSEMBLED
NOTE 2: WHEN BAR HEIGHT IS 36" OR MORE, DIVIOE BAR HEIGHT BY 2. OTHERWISE, USE 18° AS THE DIMENSION .375 9,52 .800 20,32 1.350 34,29 3.750 95.25 || 42 1066,80 UNIT). SLIDE THE PIVOT PLATE NEAREST HINGE INTO TRACK OF PUSH BAR UNTIL
NOTE : THESE DIMENSIONS AND TEMPLATES ASSUME A DOOR THICKNESS OF 1.75" WITH 1/8" WALL. 400 10,16 || 900 22,86 || 1.375 | 34.93 | 18 457,20 || 45.22 | 1148.59 SECOND PIVOT PLATE IS EXPOSED. INSERT PIVOT PLATE INTO TRACK ON PUSH BAR
FOR DOORS OF OTHER THICKNESS, CONSULT FACTORY. -435 11,56 910 23,11 1.400 35,56 [ 27.22 691,39 | 48 1219,20 AND SLIDE IN OPPOSITE DIRECTION UNTIL PUSH BAR AND MOUNT ING BAR AL IGN.

Adams

Rite

"ASSA ABLOY'

www.adamsrite.com
Phone: 800-626-7590

Fo

800-872-3267

x: 866-582-4641

800-232-7329

80-0180-196
Rev. }1

8200 EXIT DEVICE For NARROW STLE GLASS DOOR

Ecn 11955A Date: 07-03-12

Page

of

INSTALLATION INSTRUCTIONS

2 Appvd:  MF Date:  07-06-12



dolid
Text Box
MP

dolid
Text Box
07-06-12


INSTALLATIUN
INSTRUCTTEN

CHECKLIST

ADAMS RITE EXIT
SERTES 8200  eyice
( )

(SHOHN AFTER )
DOOR IS HUNG.

(1) MARK BAR HE |GHT

ON INSIOE OF DOOR
(AND ON QUTSIDE
IF CYLINDER WILL
BE FITTED).

STEP

INSTALL 2 PLASTIC GUIDES ON BACKSET CENTERLINE;
ONE HALFWAY FROM BAR HEICHT TO TOP OF DOOR,
ANOTHER HALFWAY TO BOTTOM OF DOOR. (USE ROD GUIDE
AS TEMPLATE TO DRILL 0.156" DIA HOLES FOR SELF-
TAPPING SCREWS).

STEP @

REMOVE BAR, DRILL .156 OIA HOLES IN HINGE STILE.
REINSTALL BAR PERMANENTLY WITH FOUR SCREWS AS
SHOWN BELOW.

#10X1/2 ROUND HEAD SELF-TAPPING
SCREW (1 AT UPPER HOLE OF
MOUNTING BASE )

STEP,

INSTALL TOP BOLT ACTUATOR ASSEMBLY AND SECURE WITH
TWO SCREWS. SNAP ROD COVER ONTOQ PLASTIC ROD GUIDE
AND SLIDE IT DOWN INTO MOUNTING BASE.  WITH ASSEMBLY
IN LOCKED POSITION AND PUSH BAR RELEASED, END OF
SGUARE BOLT SHOULD ENGAGE STOP PLATE AS SHOWN.

(FOR FINE ADJUSTMENT, REMOVE ACTUATOR ASSEMBLY,
ADJUST BOLT UP OR DOWN AND REINSTALL ASSEMBLY).

STEP

HOLD DOOR OPEN.
DEPRESS AND RELEASE
PUSH BAR. ADJUST
BOTTOM BOLT SO IT
CLEARS THRESHOLD BY
178" AS DOOR CLOSES.

178"

THRESHOLD

HEADER ) STEP
////// qﬁﬁﬁs»
53] €3 STRIKE </
N
STEP
q ﬁ INSTALL LOWER COVER. SNAP ALUMINUM ROD COVER ONTO
- - @ X PLASTIC ROD GUIDE AND SLIDE IT UP INTO MOUNTING
Q \./ I A BASE. SLIP LOWER BOLT GUIDE ASSEMBLY OVER HEX
RHR DOOR LHR DOOR \ﬁ‘f’ 0 IF CYLINGER 1S BOLT AND OROP INTO LOWER COVER SHOWN.  POSITION
N (2) MARK BACKSET 0 REQUIRED, INSTALL ACTUATOR ASSEMBLY LOWER COVER AND SECURE IT WITH TWO SCREWS.
— CENTERLINE AT IT NOW WITH
U .
y = \ 10°. BAR HEIGHT CYL INDER SCREWS NOTE: SGUARE BOLT MUST BE FLUSH WITH TOP OF STOP PLATE.
| U D | AND BOTTOM. ]ﬁ‘% THROUGH DOOR. LOWER COVER
(ALSO MARK ON Nep STEP
OUTSIDE AT BAR : #10X1 1/4 PAN HEAD SELF-TAPPING SCREW
K HEIGHT IF CYLINDER 0 (2 AT HINGE END, 1 AT BOTTOM HOLE OF MOUNTING
BASE )
\ 10 BE FITTED). N
IMPORTANT! N STEP INSTALL DOOR IN FRAME. MARK ON HEADER, THRESHOLD,
This device is unhonded. |t con be installed in / iEEUEERE':ANf'Hg: gﬁ::li?AﬁEAiLE'FI’L:HLg% MR THE BACKSET CENTERLINE. AND WHERE FACE OF CLOSED
either left hand reverse or right hand reverse q F ' ' DOOR RESTS. ~APPLY CLEAR TEMPLATES (:) AND (:)AND
doors without alteration. The doors’ lead stile ORILL STRIKE HOLES.
and header preparation are |DENTICAL not mirror STAMPED
image. Note in the sketch obove that the yoke STEP \\q. REMOVE TEMPLATE (. MARKS
type bolt always foces right (os viewed from N LAY ROD MECHANISM - LOWER BOLT CUIDE ASSEMBLY
inside) and the strike post is toward the right ® ON PREPARED DOOR \r
of the backset centerline for both doors. \*}“@. ;EET:EEIIJ?E FI_;ESR @ O . e
NOTE o
STEPS | THRU 10 ARE MORE EASILY N g o> PAN HEAD SCRENS.
ACCOMPLISHED |F DOOR IS NOT INSTALLED IN FRAME. I'/® SUP THREADED RODS
o |o]
HOW TO FIND BACKSET ©) i ton conoee S o < INSTALL TWO PROTECT IVE COVERS ON TOP BOLT ACTUATOR
STICK-ON TEMPLATES : © \ ASSEMBLY AND LOWER COVER. SLIDE PROTECTIVE COVERS
—-I HE IGHT OF STOP ﬁ m OVER THE PERCIL INTO TOP BOLT ACTUATOR ASSEMBLY AND LOWER COVER.
) 1.080 INCHES '|’ LINES AND DRILL STEP — J SECURE EACH COVER WITH ONE SCREW AT SICE.
_ WHERE SHOWN.
TOP BOLT
| / BACKSET CENTERLINE RHR DOOR LHR DOOR ACTUATOR
WILL LOOK LIKE THIS WILL LOOK LIKE THIS ASSEMBLY
| SINGLE DOOR / ADJUST RODS TO LENGTH: o SoREN
JAMB > WITH GEARS ALIGNED TO STAMPED MARKS (SEE FIGURE
m’E DOOR ) SONENG AT STEP 8), ADWUST TOP ROD TO LENGTH BY TURNING IT | rep STEP #6 SCREW N
SURFACE TO ALIGN MARK ON TEMPLATE (D WITH SGUARE BOLT. PROTECTIVE
ADJUST BOTTOM BOLT FLUSH WITH BOTTOM OF DOOR COVER
PAIR DOOR BACKSET CENTERL INE |=' FIN STOP ':I |=' FULL STOP (FOR NOW). CUT ROD COVER TO LENGTH. K
- INSERT END N MOUNT ING BASE PROTECT IVE
1.080 INCHES ) POSITION STRIKE PLATE ASSEMBLY ON HEADER.
1.080 INCHES — | e AND CUT AS SHOWN ON STICK- THEN, TIGHTEN SECURELY WITH HEX WRENCH. COVER LOWER COVER
! (TORGUE TD 100 IN-LBS MAX. )
. ROD oN TeMPLATES (D) ano @) . STep
? V] e COVER REMOVE TEMPLATES (7) a0 (B) .
I 1 ® REMOVE
BEVEL STILE AND FLAT STILE APPLY TO SINGLE DOOR ONLY. ‘1' lgﬁl ®
DOOR DOOR INSTALL PUSH BAR
- .oaoI—— l.OSOI—— —]l.OSOI—— END CAPS
| | | — — MOUNT ING
+—+—f Hf—t+—f Tt SEPARATE PUSH BAR FROM MOUNT ING BASE
| | | NOTE THAT LOCATION OF TEMPLATE (T) WILL VARY. BAR AS SHOWN ON REVERSE OF THIS
: ' j FOR FIN STOP, REMOVE 1 34" WIDE SECTION OF FIN SHEET. SECURE MOUNTING BAR
RADIUS STILE BEVEL STILE FLAT STILE AND MOUNT STRIKE TO HEADER. FOR FULL STOP, TEMPORARILY IN LEVEL POSITION AND PHILLIPS-
BACKSET IS MEASURED AT DOOR CENTERLINE, NOT THE MOUNT STRIKE TO STOP. MARK HINGE SIDE FOR MOUNTING HOLES.
EOGE . 10-32 SELF-TAPPING SCREW
www.adamsrite.com
Adams re: 025750 | §0-0180-196 8200 EXIT DEVICE rFor NARROW STILE GLASS DOOR INSTALLATION INSTRUCTIONS

Rite

ASSA ABLOY

800-872-3267

Fox: 866-582-4641
800-232-7329

Rev. H

Ecn 11955A

Date: 07-03-12

Page 2 of 2 Appvd:

Date:  07-06-12



dolid
Text Box
MP

dolid
Text Box
07-06-12


	80-0180-196p1_H.pdf
	80-0180-196p2_H.pdf



